MRGIN / PRO

D

ARGIN / PROTECTED

////
JM//AUWMW
AN

N\
NN

NOILVNNILNOD

7
7
7
Z
Z
Z

7
7
7
Z
Z
Z

7
7
7
Z
Z
Z

7
7
7
Z
Z
z

7
7
7
Z
Z

7
7
7
Z
Z

Z
Z
Z
7
7

Z
Z
Z
7

Z
Z
Z
7

Z
Z
Z
7

Z
Z

Z
Z
Z

Z
Z
Z

Z
Z

Z
Z

Z
Z
7

/

7
7
7
7
7
7

7
7
Z
Z
Z
Z

/

7
7
7
7
V.

7
7
7
7
7
7
7

7
7
7
7
7
7
7

7
7
7
7
7
7
7
7

7
7
7
7
7
7
7

Z,

7
7
7
7
7
7
7

7
7
7
7
7
7

7
7
7
7
7
7

7
7
7
7
7
Z

Y O A AR Y e A B
T V3 Ol ¥343

7
7
7
7

7/

7/,

1
|/

Z
Z

/)

Z

2

/

7
7
7/

7
7
7

7/

v
Z

|

Z
Z

/
2

7

7/

7

'GTO02 422m?.

;vx

VANV AN AN
N/ Z

Va4

Va4

Va4

V2

g -

Plantin

“Native Mar
27Tm?—

m///

Sl

gﬂnal

AV 4
AR

7/ / 7

~ 2 1 No.Quercus robur~z\7 7~

7 7
2 No. Taxodium distichum +

V7
7el

7
7

6 No.Cmas- -

7

V7

7
7

7
v

7

Z
7
Z
Z

Z
7
7
7

7

7
92 2 4~

7
7

7
7

Z
7
7
7

Z
7
7
7

7
7
7
T 7

— Headwall Plantin

\\/

~4 No. Tilia cordata

7

7
2

7,

7
7

"/Qé A 7
AN 7
AN/ AN/ A7

Z

A A/

7

™~

N

TN

R TS

/

nnel

: hallow Chal

7

ANV
ANV
Hling

Va

L
nal Plan

/
L
7

/

~~GTO07 114m? —

[CRRVY)

=

_—

7

7

&
y/ Y

— 7

EXISTING PUBLIC RIGHT OF WAY WITH ACCESS FOR

AGRICULTURAL VEHICLES RETAINED

/ | &
00
Au-—mmwv NN
©
o °

= | 238 s

o o

— RES Kz
anp >
FOO< x

<
—
Oo
AWM (q\]

o n@N2 _
Sozw (al
S _

SN o =
J4H0 2
e ©
5 0
> c
2w, s <
28T R g X
N O 4= © —
Lnnha a
|
|
I
nd
=
< L0
T (qQ\]
- LL
X @)
< N~
o —
> Z
f <
%) 5
1 o
= Z
o = -
= Au“ =
bt > Z
5 b £ <
o g
z O a0
o
=
c
< oo o
—_ e e
o} leR=R=R=)
- NN NN
o N 0O I~ I~
L 40009
P11l looan ©
g il ioqaaocn
n/__
D|_
0
(o]
0
—
o
= "
Qo
g T 2
T LELG
o @ mw o £
— EQEE
L > = £ 9
o 2 306985
O x CWC.S.M
e} = =y
25 ESEEs
@ © ScoS o
Qo It 1og=80
oS Pl 1oao0oann
.. O
[ORN]
mm [ D e | w
Z 0 Pl T 00 <
. ©
wn
03
. OIS
o .5 :
£ =2 BZE
= 5 &
© =c?
— (%) L .= =
T 0 Co52
28 <I9Y
£ = a5 - 5 =
- 0 o o 5 .
5 9
Ecag T oo
o © e 5<
=0 9 < =
> Eerl
- 8s = 0
25 ® B o=T
523 23%
»G g mWE
QO o
o Q00 mgm
— 22y gogsE
1 v o o 2 c
cg® £S89
mww 0 v mW 0o 3
cC Cc o ge.l
@ oo 3 P£E
a4 (TR TR mwm
A EEE T &3
2 o=92% ZE o=
o [ z<< F=z32
g
@
>
O
)
[}
c
g <
C S
s N
= .
- 5
C
S T
-
o =
g U
© e
g 3 3
g o E
@ 5
=) o S O
T — = 5
bl 3 - L5
= e
o 2 3 S o
- T g S5
S 9,55 &¢
O S8R g5
O sy 239
— = 2 W= ® <
—_— = 80
[ P20 5 mm g
] O cL o .
1 O 5505 =3
s xr z2zZzc =&
- 1 c5<s3 =2

OMA’'SZ 40 LT NV1d ONILNVY1d 8TZ d 898T VXI\LNOAV1 LATFHS 20\AVD TO\TIIHEIAVH ‘MHVd AISTIM LVIHD 898T\8T02\S1OAr0¥d NOANO\:d



